SSC CGL/CHSL TIER 2 (CRASH COURSE)

If a no is increased by 20 it becomes 116% of itself.
Find the number?

Ife 1L G&AT 20 98 TTAt g AT IZ ST /T 116% 7Y
STt 3| ST AT Hiford?

(a) 145
(IRE,

§c§120




SSC CGL/CHSL TIER 2 (CRASH COURSE)
If a cube is cut in 27 equal cubes. What is the

percentage change in the total surface area.
i< TH I HT 27 TUAAL I | FHIST SATAT gl T qAQ &AA
¥ yiaera aiREds 4T 8

(a) 250
(c) 150
(d) 300




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Find the sum of the series - + + —+..... + —

144

qRT AT B




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Two man starts walking towards each other with speed of 21 km/hr and
24 km/hr. If they meet after 1 hour 12 mins, what is the distance
between them initially.

< redT 21 faFt / st sk 24 3T / ser it i & 91 T qEe At A}
@Wﬂ%mﬁgl IRTF1aec 12 e F I AAq, A LE A STF ST A
T YT ?




SSC CGL/CHSL TIER 2 (CRASH COURSE)

A shopkeeper marked up his good by 125% and

allowed a discount of 25%. If the selling price of good

is Rs 27, find the cost price of the good.(3rea<t

gﬂﬁm?{r{?r 125% T& AT qe & a1 ! f=fesa

ﬁwnﬁ'tzs% #T e x| T TEg 1 fOmT 957 27 € ¢,

X TET HT AT G AT HiforQN [GRshs
(b) Rs 18

(c) Rs 26
(d) Rs 39




SSC CGL/CHSL TIER 2 (CRASH COURSE)
F|nd the average of numbers from 100 to 400 which

are divisible by 13.
100 & 400 T Y H&IT FT AT ATT HL ST 13 9
GRS A

[(a) 247
(b) 250
(c) 225
(d) 180




A chord is drawn to two concentric circles. The length of chords is 4cm

SSC CGL/CHSL TIER 2 (CRASH COURSE)

and 16cm. What is the difference of the square of radius of both circles.

TF SHar A dHhfaq g/ €=t 74T g | Sftar it S=rs 4 9 i< 16 9 2

AT g F Bear F a9 FT A =T -

(b) 60
(c) 50
(d) 70




SSC CGL/CHSL TIER 2 (CRASH COURSE)
A A mixture contains acid and water in the ratio 11:2. If 35

~ liters of water is added, quantity of acid becomes twice of
water. What is the initial quantity of acid in liter.
T fRor ¥ ufee Sk aTet 11: 2 & SiquTa | g1 Ife 35 #ie<
qTHT STAT SITAT 8, AT TS S /AT I | ST 84 STt gl
H1eX ¥ Tfere T ITLNF AqTAT T 2 (a) 55

ibE4O
0

(d) 80




SSC CGL/CHSL TIER 2 (CRASH COURSE)

A, B and C can do a work in 7.5 days. C is thrice as good
as A. B working alone can do the same work in 15 days. In
how many days A and C together can complete the same

work.

A, B3 C 7.5 i< ¥ TF FTH FL Gohd gl C i@ FEAFIT 8
A¥ B Fa FTH A 15 AT § FL IFaAT 2. fraa fear § A

AT C TF T TF gl HTH YT FT T4 & @T5)
(b) 20
(c) 7.5
(d) 30




SSC CGL/CHSL TIER 2 (CRASH COURSE)
4 Speed of a boat going downstream is 30 km/hr while 18

km/hr going upstream. Find the average speed of the
O boat.

g i AT & ST ATt T A1 oy T 30 fHFAT/ wer 8
STtk 18 fRdT / e gy it Al fRer & 21 71 & o

i sra Fifsra
@225 Kejhr

D) 40 AKM/nr
(c) 40 Km/hr
(d) 20 Km/hr




SSC CGL/CHSL TIER 2 (CRASH COURSE)

+4/3,PQ=1,

=7
(a) 110
(c) 223

(d) 142




SSC CGL/CHSL TIER 2 (CRASH COURSE)

The difference between compound interest if a sum is
2 invested yearly and halfyearly at a rate of 20% is Rs 46.5
find the sum.

THATG SATST & S T (A< L T TR FF ATATT A

AR # 20% B WY A AT AT g ar46.5 € 81
TTRY AT HiL 2 (a) 2500
(b) 3000
[(c) 4650
(d) 3250




SSC CGL/CHSL TIER 2 (CRASH COURSE)

07 = \/_+2and/GhTy 5 —2
3 Find/ATd B x+ +4(y X)+6=2

(1) 25

iZE 20

(4) 36




SSC CGL/CHSL TIER 2 (CRASH COURSE)
2 A single discount, equivalent to the successive

discounts of 30%, 20% and 10%, is
4 T TFA G2, 30%, 20% M 10% F FWF F F T

(a) 60%

(b)
(c) 47.40%

(d) 40%




SSC CGL/CHSL TIER 2 (CRASH COURSE)

If a train runs at 40 km/hr, it reaches its destination late by 11 minutes, but if it
runs at 50 km/hr, it is late by 5 minutes only. Find the correct time for the train

5 to complete its journey.

iR #IE 37 40 Tt / sier it TR A T9dt g, v ag 11 e i 8 F stue iqsy
g, At I a8 50 f3FT / =2 it TR A Tt g, AU 98 Fao 5 e fi

Eﬁ?ﬂgﬁ?ﬁélwwwm%m%ma@wmﬁl

(a] 19 minutes |

(b) 20 minutes
(c) 21 minutes
(d) 18 minutes




@ SSC CGL/CHSL TIER 2 (CRASH COURSE)

‘ he base of right pyramid is a equilateral triangle of side 4

6 °cm- The height of the pyramid is 6 cm ,lts volume is-(in
cubic metre)

faafae 1 e 987 4 cm FT 9H9aTg BArge g1 R
$ATs 6 cm g, TSI AT g-(= Hie< H)

(1)5V2

2) 613
h

(4)) V2




SSC CGL/CHSL TIER 2 (CRASH COURSE)
rsin @ =v3,rcos 0 =1,

(v3tanf — 1)=?




SSC CGL/CHSL TIER 2 (CRASH COURSE)
4 Find the ratio between the third proportional of

4, 5 and the fourth proportional of 3, 6,18.
8 4, 5 F 19 srqaTia® < 3, 6,18 F ATy

SATAATIA® & S AT FT IAqT AMTY ?

(@) 5 :12
(b) 15 :121
(

(d) 25 :144




SSC CGL/CHSL TIER 2 (CRASH COURSE)

If students requires 40 % marks to pass .if surya got 250 marks
and still fails by 38 marks .find out maximum marks ?

9 i< STAT A 40 TRAAT it T sTALTRAT  THAT SIATT 217 2, R
AT Fr 250 i At § < o+t T 38 Siwhi & STqH T SATAT § T (P
ATd Y ?.

(a) 630
(b) 380
(c) 730

[ (d)720]




SSC CGL/CHSL TIER 2 (CRASH COURSE)
unit digit of sum of 111 whole numbers

0 THTS T 3 T L 111 TEGOT GEIATA T ?

(a)6

(b)4

(c) 2
(5 ]







